ST. PBN Public School
Unit Test - 11
Class-1V
English
Sample Paper

TIME: 2 Hours MM: 40
NAME: ROLL NO:

GENERAL INSTRUCTIONS:

1. All questions are compulsory.
2. Read each question carefully.

Section (A) [Comprehension]

Q1 Read the unseen passage and answer the questions given below. (5)

What was Kolkata like in 19177 It was very different from the Kolkata of today. In fact, it
was known as Calcutta. It had been the capital of British India till 1911. The biggest house
had electric lights, but lots of people in the houses and flats had to go about the chores by
candlelight. The trams had switched from being driven by the horses to being powered by
electricity. Some people had cars too. But, you could still see bullock carts and hand drawn
rickshaws.

(i) What was the name of Kolkata before?

(i)  Which houses had electric lights?

(iii)  How would people travel without electricity?

(iv)  What modes of transport were being used at that time?
(v)  Despite of cars what else was seen on the roads?

Section —B(Reader)

Q2). Answer the following long questions. (2x2=4)

a) How do people walk in Topsy Turvy Land and how do children travel to school?
b) Why did Nag want Rikk-tikki out of the house and the garden?

Q3.) Fill in the blanks. (0.5x4=2)
a) Rikki-tikki never met a cobra.
b) Rikki-Tikki felt his eyes growing
c) The rich man at every fly he saw.
d) The peasants the judge.

Page 1 of 13



Q4) Write the meaning of the following words. (1x4=4)

a) Horrid
b) Waived
c) Grand
d) Bloodhound

Q5) Case Based Question (2x2=4)

When the boy’s parents returned, they were astonished by their son’s story. The peasant
was so relieved that he rushed to the rich man’s house to thank him.

Q1) Do you ever feel sorry for the rich man? Explain.

Q2) How important is it to be smart and clever in real life?

Section — C (Grammar)

Q6) Fill in the blanks with the question words. (0.5x4=2)
a) told you about the party?
b) hat looks better on me?
c) does your flight leave?
d) did you solve the sum?
Q7) Circle the common nouns and underline the proper nouns. (0.5x4=2)

a) David is a dentist. He was born in London.
b) Mary and | went to the theatre.
c) James adopted a cute puppy.

d) Peter has many friends.

Q8) Write the collective noun for each. (0.5x4=2)
a) A of flowers.
b) A of flies.
c) A of lions.
d) A of soldiers.
Q9) Fill in the blanks using suitable adjectives? (1x4=4)
a) We enjoyed food.
b) She is an girl.
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c) Thisis a coat.
d) There are balls.
Q10) Fill in the blanks with articles.

a) Anna saw car. car has brown doors.
b) sun is shining in sky.

Q11) Fill in the blanks with the verb. Change the verbs as required.

a) The grapes sweet. (taste)

b) The brothers are very fond of kites. (fly)
c) Their cousin with them last year. (live)

d) | have my assignment tonight. (complete)

Section — D (Writing Skill)

Q11) Write ten lines on The place | like to visit.
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ST. PBN Public School
Unit Test - 11
Class-1V
Mathematics
Sample Paper
Time: 2 Hours
General Instructions:

e Do as directed
e All questions are compulsory

Q. 1 Choose the correct option and write in your answer sheet
I.  When 372 is divided by 5, the remainder is

MM: 50

(1X10 =10)

a) 1 c)3
b) 2 d)5
ii.  The smallest odd prime number is
a) 1 c)3
b) 2 d)5
iii. Is the sum of all sides of a figure.
a) Perimeter ¢) Volume
b) Area d) None
iv. Ifanumber is subtracted from itself, then the difference is always
a) Number itself c)0
b) 1 d) Not defined
v. The HCF of any two prime numbers is
a)0 ¢) Sum of numbers
b) 1 d) Difference of numbers
Vi. +450=0
a) 450 c)1
b) 0 d) 900
vii.  The area of a square having side 3 cm is
a) 3sq. cm c) 12 sq. cm
b) 6 sg. cm d) 9sg.cm
viii. 3987 +10=
a) 398700 c) 3977
b) 3997 d) 39870
ix. 6500+10=
a) 65 c) 650
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b) 50 d) 6500

X.  Which of the following is divisible by both 2 and 4?

a) 54 c) 46
b) 84 d) 73
Q.2 Solve the following questions: (2 X7=14)

I.  Write any four multiples of 11.

Ii. Naved wants to buy ice creams for himself and his friends. The cost of one ice cream is
%55 and he has ¥500. How many ice creams can Naved buy?

Ii.  Find the perimeter of a rectangle whose length is 17 cm and breadth is 13 cm.
Iv. Find the number which is 4286 more than 3000 + 1500.

v. Divide 9783 + 12 and write the quotient and remainder.

vi. Write the common factors of 80 and 100. Find the HCF.
vii. Find the area of the shaded figure.

d

=

Q-3 Solve the following questions: (3X4=12)
I.  Fillin the blanks.
7000 = 7 = 1000
7000 =70 =
7000 = 700 =
7000 + 7000 =
Ii.  Find the prime factors for given numbers by division method.
(a) 85
(b) 36
ii.  Jayesh saves 12,500 in the first month and 15,975 in the second month. He spends
%10,835 in the third month from his savings. How much money is left with Jayesh at the
end of the third month?
iv.  Find the LCM of 25 and 45.

Q-4 Mental Maths (1 X 10=10)

i 799+ =799

ii. s neither prime nor composite.
Iii. Minuend - Subtrahend =
Iv. Perimeter of square =

v. Division by Is not defined.
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Vi. IS measured in sg. m or sg. cm.
vii.  When a number is divided by 1, the quotient is the remainder is always zero.
viii. 14873 - 10000 =

iIX. Area of rectangle =

X. 45,680 + 100 =

Q-5 Case Based Question (1 X 4=4)

Two students of class IV has different shapes of lunch boxes as shown below.
Look at the shapes and answer the following questions.

«— 12cm —mm>»
A B

15 ecm 6 cm

(a). (b)
I. Which figure has greater area?
I1. Which figure has smaller perimeter?
I11. Find the sum of area of both the figures.
IV. Find the difference between the perimeter of both the figures.
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ST. PBN Public School
Unit Test - 11
Class-1V

EVS

Sample Paper
Time: 2 hours

NAME: ROLL:

MM-40

GENERAL INSTRUCTIONS:

1. Read all the questions carefully before attempting.
2. All questions are compulsory.

3. Do as directed.

Q1. Choose the correct option and write in your answer sheet:

1. Which of these is not a nocturnal animal?

a) Bat c) Lemur
b) Eagle d) Owl
2. Which of these mammals does not have hair?
a) Duck -billed platypus c) Spiny anteater
b) Dolphin d) Lion

3. Which of these plants has fibrous roots?

a) Radish c) Pea plants

b) Carrot d) Wheat

4. In which season does most flowers blossom?

a) Summer c) Autumn
b) Winter d) Spring

5. Which of these is a non perishable item?

a) Maize c) Grapes

b) Brinjal d) Tomato
Q2. Fill in the blanks: -

a) is the process of growing crops.

b) is the national tree of India.

c) is used to cure skin and hair problems.

d) is the type of roots found in strawberry.

e) Most mammals live on
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Q3. State True or False. (1x5=5)

a) Thatis not a nocturnal animal.

b) Dolphinis a type of mammal that does not have hair.
c) Wheat plant has fibrous roots.

d) The people tree is considered sacred by Indian people.
e) We buy food items directly from wholesalers.

Q4. Answer the following questions in brief: (2x5=10)

Q

g2

How do animals living on the seashore cope with water currents?
What do you understand by reproduction?

c) What are the functions of the roots?
d) Name any two weeds. How are they harmful to us?
e) How do we get our food?
Q5. Answer the following questions in detail: (3x3=9)

a) Differentiate between aquatic animals and amphibians.
b) What are mammals? How do they look after their young ones?
c) What are the functions of a stem?

Q6. Explain the different parts of a flower with the help of a diagram.
(2x1=2)

Q7. Case study based questions: (4)
Riya and Arjun are siblings who love spending time in their garden. They have a variety of
plants and a few pets. Riya takes care of the plants by watering them daily, ensuring they
get enough sunlight, and removing any weeds. Arjun, on the other hand, takes care of
their pets - a dog named Bruno and a cat named Whiskers. He makes sure they have fresh
food and water, takes Bruno for walks, and plays with both of them regularly.

1. Describe how Riya and Arjun take care of their plants and pets. Why is it important to
water the plants and provide fresh food and water to the pets?

2. One day, Riya notices that the leaves of one of her plants are turning yellow. What could
be the possible reasons for this, and how can she fix it?
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ST. PBN Public School
Unit Test - 11

Class-1V
Computer
Sample Paper
Time: 2 Hours MM: 40
NAME: ROLL NO:

General Instructions:

1. All questions are compulsory.

2. Read each question carefully.

1) Tick the correct answer. (1x5=5)

1.

Self- driving cars are automobiles that can drive without human involvement by

sensing their

a) Environment b) Sensors c) Brakes
2. A is a small computing device that is worn on the wrist.
a) Echo b) Smart TV c) Smart watch
3. allows you to insert a break in the page and move the cursor to a new
page.
a) Page break b) Footer c) Superscript
4. The property sets the printing direction of the text.
a) Indentation b) Page orientation c) Margin
5. Which among the following is not a feature of a smart watch?
a. Make telephone calls
b. Surveillance cameras
c. Count the number of footsteps
2) Fill in the blanks- (1x5=5)
1. The default margins are set at from top, bottom, left and right edge of the
page.
2. To copy the formatting effects to multiple sections of text, on the
format painter button.
3. Most smart cars run on
4. By default, tab stops are set at every
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5. records footage and captures image to protect our home.
3) State True or False: (1x5=5)
1. A smart TV suggests your favourite shows , movies, etc. based on your preferences.
2. Landscape is the default paper orientation in Word 2010.
3. The page break option splits the document in to two or more columns.
4. Indentation determines the amount of spacing above or below a paragraph.
5. Using IOT, you can manage different agricultural resources.
4) Answer in one word or sentence. (1x5=5)
1. Write the shortcut key for the following function-
a. To copy the text
b. To decrease the indent
c. To save document
2. What is drone?
3. What is reasoning?
5) Answer the following( Do any 5 questions) (2x5=10)
1. Write any two applications of IOT.
Write a short note on Smart TV.
What is the use of the Format painter option?
What is indentation? Under which tab is the decrease indent button present?

vk wn

Write any two features of Self driving cars.
6. Define IOT.
6) Differentiate between: (2x2=4)
1. Superscript and Subscript
2. Smart watch and Smart TV
7) Competency based question: (1x2=2)
1. If COMPUTER= DPNQVUFS
Then SCIENCE=
2. Aaryan has been given an assignment to write three paragraphs on the topic-‘Keep

Your City clean’. Name the options which he would use to set the indents and
margins to format the paragraph.
8) Case study based questions: (1X4=4)
Identify and write the name of highlighted options of word -

HE=eonle s s af):
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